PANIC EXIT DEVICE

INSTRUCTION FOR PUSHBAR DEVICE

1.PARTS LIST

M4 flat head machine screws

Mechanism case end cap

strike
M5 sex bolts(optional)

M5 sex bolts(optional)

Mechanism case
mounting bracket

M5 screws

M4 flat head machine
screws

M5 screws

Center case cover

2. TYPE OF INSTALLATION

56mm

( o | \’

f——

Left Hand Instalation

Right Hand Instalation
(Right Opening)

(Left Opening)

3.INSTALLATION

3.1.Mark centerline ¢ location as shown in Figure 1-1.

3.2. Tape template 'A' and 'B' to door and frame aligned with center line ¢
as shown in Figure 1-2. Mark and prepare mounting holes per template.

Template 'A’
3 —
RHR shown
LHR opposite N
— N ¢ ®p0 :
L1 N 3
ﬂ/ [ ™~ ? ok
1000 Template 'B'
to finished
floor E] ]
l \/\—\' \/\’\_
Figure 1-1

Figure 1-2.



3.3.Install mechanisms iiii) Install mechanism case end cap

i)Align screw holes mechanism with the holes on door , if the

width of door is less than the length of mechanism, cut end
portion of mechanism make the distance is 50mm from mullion
,50 needed to fit door size.
!!?tlghten screws. L
iii)Install center cover,
tighten screws.
M

5 sex bolt or optional parts

3.5.Installation strike
Align screw holes striker with the holes on mullion and tighten screws.

Yoy

3.4.Install mechanism case mounting bracket and mechanism case end cap.
i) Slide in mechanism case mounting brackert.
ii) Mark mounting holes and prepare per chart.
iii) Install mounting screws Mullion
Device level on door 3.6.Test push bar

The latches should disengage from the strike freely when the push

Bracket flush against
; bar is depush.

mechanism case

Mark




("sma10s Jade)/PooM 8SN J1 SB|0Y U} [|LP O} PASU OU 10y )

'$9110888208 pUe sjonpoid psjosjes ay)

U0 paseq Sajoy &y} [|Lp 0} A1eSS828U SI i JI WIJUOD 8Sea|d

(v3dHL

AJ0T dAANTTAD cE@

WV Whd4 dd3H T104

- 90 T J0IAIT LIX3 JINVd
qWvr x (
Nm\\ \ 7 QSN
= Wt —I— !
30IS N0
3000
39S 0L LON
B 61 oD 9Q B d3ADOJ INJ ONIINNOW 04 B
SJd9XT1OH
NEREEN
|
R | ;ﬁ.wv v
= | G9
fv @w | m Cl'td |
_ | o8]
an |/ J, \W _ / _ _ _ v _ < —
~ \@W\\ I W - \ / =
,W a~ O o \mw\

) i 1 m , !

_‘, | W //\
MWMMWMMW | - s
- | €2 19 Wl
. + & RE
|

Jubd JHL 40 49v4 JUISNI
JOIA40 LIXd J04 4LV IdINFL



	001&091 Model (1)
	001&091 Model (1)2
	0系钻孔图 Model (1)



